Derivalja a kovetkez6 fiiggvényeket!
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1. f(x):M 2. f()=2x+ X1y 1 3.
X X 3/ x’
4
f(x)=—— +arctg x
4. £(x)=(e* +3)sinx 5. f(x)—l?(—zx 6. (x)=lgx(x? +6x+1)
7. f(x):ezx+32‘x+1;3X 8. f(x):sin2x+sin2x+sin%+2§

9. f(x)= x%arctg/x + arcsin%

10. f (x) = cog (2x - 6) + sin*(y/x — 1)+ tg(x ~ 7

_e've” _ [xe _
11. £(x)= e 12. f(x)= 1 13.(x)=Incosx
_ X T _tg®2x _1 —X—:
14. f(x)= e 1107 15. f(x) = = +shx  16. f(x)= o ®
17. £ (x)=sirt(Vx &™) 18. f(x)=log, ;:? 19. f(x)= e >"Inx
2X
20. f(x)=x+yx+~/x 21.f(x)=In 1_??
w2y vl _ 21 _ 5 ¥
22. f(x)=x2+3x* +5J/x 23. f(x)=1-= PR 24. f(x)—3 =3
25. f(x)=(x+2)&" 26. f(x)= 3-x,3 27. f(x)=thxOn x
5x+1 X
2
28. (x)="% C;X 29. f(x)= (2x-1F +* —cos2x  30.
e

f(x)= (@ +2m@ )5

31. f(x)=tox(e> +7)

34. f(x)=arctg(x-3)+7

32. f(x)=3e*sin2x

35. f (X) — Zsinx — 3eosX

33. f(x)=(o- xz)(eX2 +1)

4 _
36. f(x)= X~ 32X 33?_)‘(*2&



37. £(x)= (\/E - 3x)®rcsinx

40. 1(x)= I

3x?

43. f(x)=sin2x+sin® x

5 2
46. f(x)= x| e

sinx e +1

38. f(x)=—

COsX

3x[Arccos<
41. f (X) = W

39. f(x)=—=

" 1-Inx

42.f(x)=tgzg+n

44, f(x)=cos'x+cosx® 45, f(x)=e" " [Inx

47. f(x)=Insinvx

48. f(x)= x* & [sinx

Osszedllitotta: Kovacs Judit



